a '
,‘000000

(A7
“\ QQ..

V o

/" FURNITURE

Using Tools

%

1xScrewdriver

o

A. 12x Screws

M6x75 B. 4xThreaded
wire M6x45

&

Eeed LV




STOPE

Before you start...
2
%

Lay out all of the components on a soft surface

Read Instructions carefully. as if you were preparing to do a jigsaw puzzle.
Carefully identify each component, especially Separate and identify each component from the
those that are similar. The most common mistake hardware pac— and rest each one in its proper
is getting things back to front. location before fastening.

6

DO NOT Over-tighten screws DO NOT set glue until you are certain that the

parts belong together.
Page 2



> s = =
1) ) E Qo
N H Qq '—1.
@
4 é-/ s -
o
o 2. ©
| < o o
b7 @ @)
H S
<
=
H.
d
=
.’;(>
—~
~

"UMOUS S®

118 JOAT

oyl os) °T deig
LS0E6S) - [OPON

IPMOIOS

oyl 03 pJeoq wWo3130q 8yl Yoe




Model : GS930ST

Step 2. Use the screwdriver attach the bottom board to the
main body with A. (&~ )as shown.

- —\— -y— — — — —
- — —m— — - — —

- — — my— —\—— —

Using Tools

Ty

1xScrewdriver

N

A. 6x Screws
M6x75




Model : GS930ST

Step 3. place glass on the top panel as shown.

N

B. 4xThreaded wire
M6x45

And fix the glas to panel with B. ( %)
\ <>

o

S,




A\

I_’__




	页面 1
	页面 2
	页面 3
	页面 4
	页面 5
	页面 6
	页面 7
	页面 8
	页面 9
	页面 10
	页面 11
	页面 12
	页面 13
	页面 14
	页面 15

